Kanking -1
&1 In o Row of 25 childven fating fouth, R 15 16t from +he 114t end and

BR 0: ”:t:‘ {vom e Let erd. How many childvens ave Hheve between

N2 2)3 )4  a) Daka Inedesuate (Puniaba Sivel benk-2010)

» 8.4e123V Ronkmi.
it »  Numbed a» §1:4 vV
m n 1S @o"‘
N 20-18°S %

20¢1€ .~
Qv) ARCDGPGHUTKL Noop"*i::;/uvw
ors poshon of Yo Lehtwnd: )95 n Vv
e Wy it gge: o as

M e W, @B'-Tns“ Ty

pasion from lef{s (M4 O v, PoSthen "mi’:‘{-ﬁ



Qankiﬂa el
. In o Qow of 25 childven faling fowth, R 15 1§t from +he 174 &rd and
G 18 1T {vomm she Ledt erd. How many childhvtns gve Hheve between

R“M‘. —  e—————

D2 2)3 )4 a) Data Inadequafe (PunjabA Sind benk-2010)

Totod childwn? 25, Ris W ‘V\a“ erdl (1818 lagd

Ny |
Lt RegM N ¢
— Y a $ v
2 v & J
Lot RISM
() psﬂ\'ﬂ\l‘“"‘




